TMP NO. 08279192

PAGE 1 OF 1

REV. 12/20

NOTES:

1. DO NOT SCALE DRAWING.

2. RIGHT HAND DOOR SHOWN.

3. DIMENSIONS ARE IN INCHES/(MM).
4. CAUTION: SEX NUTS ARE REQUIRED FOR ATTACHMENT OF

COMPONENTS TO UNREINFORCED DOORS AND TO WOOD

Always consult dormakaba's web site for latest template at www.dormakaba.us or call 1-800-523-8483.

OR PLASTIC FACED COMPOSITE TYPE FIRE DOORS, UNLESS AN
ALTERNATIVE METHOD IS IDENTIFIED IN THE INDIVIDUAL DOOR
MANUFACTURER'S LISTINGS.

~No O

. MAXIMUM OPENING 180°. (ALLOW CLEARANCE FOR CLOSER COVER)
. SEE CATALOG FOR HOLD OPEN RANGE.
. OPTIONAL DPK FASTENERS (DPK89) FOR STEEL DOOR & FRAME ONLY.

v OF HINGE OR PIVOT

- 9-1/4 - 1-3/4 FOR 1/4-20 MACHINE SCREWS USE 7/32 DRILL & TAP
(235) (44) FOR No. 14 WOOD SCREWS USE 5/32" DRILL
DPK FASTENERS DRILL 1/8" PILOT HOLE
[ @) ] TWO (2) HOLES IN FRAME FOR ARM SHOE
[
. _
| | m
| — - |
(
! L
e !
[ 1" | I
[25] |
| — e ————-
2-1/8
| (54)
9-1/2 S o FOR 1/4-20 MACHINE SCREWS USE 7/32 DRILL & TAP
. - FOR No. 14 WOOD SCREWS USE 5/32" DRILL
(241) (127) DPK FASTENERS DRILL 1/8" PILOT HOLE
FOR SEX NUTS USE 3/8" DRILL
] FOUR (4) HOLES IN DOOR FOR CLOSER

DOOR CLOSER MODELS: 8916, 8956 AF89, PH
REGULAR INSTALLATION (PULL SIDE MOUNT)

dormakabarg




TMP NO. 08279193 |PAGE 1 OF 1 REV. 12/20 | Always consult dormakaba's web site for latest template at www.dormakaba.us or call 1-800-523-8483.

NOTES:

. DO NOT SCALE DRAWING.

. RIGHT HAND DOOR SHOWN.

. DIMENSIONS ARE IN INCHES/(MM).

. CAUTION: SEX NUTS ARE REQUIRED FOR ATTACHMENT OF
COMPONENTS TO UNREINFORCED DOORS AND TO WOOD
OR PLASTIC FACED COMPOSITE TYPE FIRE DOORS, UNLESS AN
ALTERNATIVE METHOD IS IDENTIFIED IN THE INDIVIDUAL DOOR
MANUFACTURER'S LISTINGS.

. MAXIMUM OPENING 180°. (ALLOW CLEARANCE FOR CLOSER COVER)

. SEE CATALOG FOR HOLD OPEN RANGE.

. OPTIONAL DPK FASTENERS (DPK89) FOR STEEL DOOR & FRAME ONLY.

AOWON -~

~NoO O

- 9-1/4 ol 194 FOR 1/4-20 MACHINE SCREWS USE 7/32 DRILL & TAP
(235) (4) FOR No. 14 WOOD SCREWS USE 5/32" DRILL
1 DPK FASTENERS DRILL 1/8" PILOT HOLE
. S TWO (2) HOLES IN FRAME FOR ARM SHOE
(25) |
| _
| | m
| L o
(
z T
|
' !
V) — — P
Y g
| - - - 4
2-3/8 1, _/
(60) 19) WITH BACKPLATE
| 7-3/4 | 5-3/4 N
(197) I (146) = FOR 1/4-20 MACHINE SCREWS USE 7/32 DRILL & TAP

I FOR No. 14 WOOD SCREWS USE 5/32" DRILL
DPK FASTENERS DRILL 1/8" PILOT HOLE
FOR SEX NUTS USE 3/8" DRILL
i FOUR (4) HOLES IN DOOR FOR PLATE
¥ OF HINGE OR PIVOT

DOOR CLOSER MODELS: 8916, 8956 AF89, PH

REGULAR INSTALLATION (PULL SIDE MOUNT) dormqka ba '/‘

WITH PLATE BP89

dormakaba USA Inc
800 523 8483




	08279192 Rev1220.pdf
	08279193 Rev1220.pdf

